
0 5000 10000 15000

0
10

Iterations

Trace of par 1

−5 0 5 10 15 20

0.
00

0.
20

Density of par 1

N = 5000   Bandwidth = 1.058

0 5000 10000 15000

−
5

10

Iterations

Trace of par 2

−5 0 5 10 15 20

0.
00

0.
15

Density of par 2

N = 5000   Bandwidth = 1.104

0 5000 10000 15000

−
5

5

Iterations

Trace of par 3

−5 0 5 10

0.
00

0.
25

Density of par 3

N = 5000   Bandwidth = 0.7729

0 5000 10000 15000

0.
5

2.
0

Iterations

Trace of par 4

0.0 0.5 1.0 1.5 2.0 2.5

0.
0

1.
0

Density of par 4

N = 5000   Bandwidth = 0.1282


